SERPAC 1342HS

Electronic Enclosures

11.75 B1INSIDE | 4.00 INSIDE o
A OVERALL WIDTH TOP HEIGHT BOTTOM HEIGHT
(7 N\
fﬁ! !1\_\) 7 S T~

D

* LENGTH INSIDE LENGTH
| 6.25 8.26 MAXIMUM
| BOSSES INSIDE LENGTH
B I
L S S 4 . -
il | | -
@Qi iy/@ X XXX XX A
(€ — )
& 55 Z SECTION
A <—| A'A
8.25 BOSSES
Aluminum and Plastic Panel Kits are
2 Mounting Brackets included, see %/Ollc?ble_ as ophonsl, se?. sheets 3-6.
sheet 2 for dimensions and for optional BO%S%'PE#Q gf&eﬂ ?FQDOB)BHS are.
10.16 MAXIMUM mounting Corner Feet and Brackets. Top Panel Kif p/n 7200T
INSIDE WIDTH \ Hinged Top Panel Kit p/n 7200TH
KQ“ ) =—) % The plastic panel option is:
- ya > . Hinged Panel Kit p/n 7200HP
Mo i
I I
2 -UL listed to UL 508A 4/4X standard
5.13 (UL file E519183).
CASE 5.46 -Material: UV stabilized Polycarbonate
HEIGHT OVERALL Flammability VO, F1 rated material.
HEIGHT 1 -Watertight enclosure meets or
% exceed Nema 4 and or IP67.
PARTS INCLUDED
b * P/N Qty. Description
*@j ] \ [352 HST | 1 1352 Hinged Screw Top
E N 7 S~ ;j ° I340HSB | 1 1340 Hinge Screw Boffom
e ok 110 44805 |l L e o
o - crew
SELF TAPPING SCREW HEIGHT SECT'ON Lﬁ . 6104 2 10-32 Threaded insert
9.88 MINIMUM 8001 2 SS #10 X 5/8" Pan H/L
INSIDE WIDTH B' B 1305 2 Mounting Bracket
6028 4 SS #10 X 5/8" Pan H/L

4/13/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




[ _J [ [
1352/1342 Mounting Bracket Dimensions
Electronic Enclosures
11.62 — (4) Screw
pn 6028
a
—\2 4X .29 FOR
r\}—‘\\\\u (174" SCREW)
$\ STANDARD INCLUDED
d 1305 FLANGE KIT
Part included in Kit number 1305
P/N Qty. Description
= 1305 2 Flange
6028 4 SS #10 X 5/8" Pan Combo H/L Screw
FLANGE '
LENGTH
TOP & LATCHES REMOVED
FOR CLARITY FROM ALL VIEWS — (2) Flange
f f f = pn1305 *
OPTIONAL 1306 CORNER FEET KIT \ - 10.75 - / / OPTIONAL 1355 CORNER BRACKETS KIT
Part included in Kit number 1306 . , Part included in Kit number 1355
P/N Qty. Description P/N Qty. Description
1306 4 Mounting Corner Foot - - 1355 4 Mounting Corner Bracket
6028 4 | SS#10X5/8"Pan Combo H/L Screw 6028 4 | SS#10X 5/8"Pan Combo H/L Screw
12.70
4X @ .33 FOR
4) S
| g5l 769 _ 4X® .29 FOR | ;nigezwg . . 1/4" SCREW 2-5
| 1/4' SCREW N\ A JT ), 300
/77%%@\ CHH Iy ——— ||ﬂi\§@\
. A\ | \ 7)
| o! @\ O i,
|
9.48 - - S
5.19
o) » 54 (A1)
\Na) A ] SO
O all i 1l1\(%@)@/'/
(4) Screw wgk | - 719 )
pn 6028 878 (4) Corner foot (4) Corner Br?:|3<e’r H-16 ) 4/13/2021
: on 1306 PN 1359 2009 Wright Ave. La Verne, CA 921750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7200T Aluminum Top Panel Kit for
Sleceronic Enclesures. I H52HL, 342HL, 352HS, 342HS, 352S and 342S

9.98

— R.35

V

Ground s’rrqp/
hole

8.08
\ Panel
pn 72040
M
Optional kit
pn 7200T
e =
J % ? Part included in Kit number 7200T
13 P/N | Qty. Description

72040 1 Aluminum Top Panel
6029 4 SS #10 X 3/8" Pan HL Screw

5/22/2023
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72040 Aluminum Top Panel
Electronie Enclosures 352HL, 342HL, 352HS, 342HS, 352S and 342S

9.98

~— .71 —

\Q

35—

~ R35
4PLC'S

K@.17

9.56

-

13—

® .20 THRU
4 PLC'S

5/22/2023

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7200B Aluminum Bottom Panel Kit for
SEREIPAC S52HL, 342HL, 352HS, 342HS, 352S and 342S

(4) Screws
pn 6029

8.75

Ground strap/<>

hole

Panel
/ on 72000

|
\ \
®

|

o \Ai

Optional kiTx

pon 72008
Part included in Kit number 7200B
P/N Qty. Description
72000 1 Aluminum Bottom Panel
6029 4 SS #10 X 3/8" Pan HL Screw

4/13/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




72000 Aluminum Bottom Panel
SERE'pAc352HL 342HL, 352HS, 342HS, 352S and 342S

8.75

@ 20THRU

- 17— 4 PLCS — =13

35 —

SN

®

8.25

\R.Oé

4PLC'S

4/13/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPACGC 7200TH Aluminum Hinged Top Panel Kit for
Electronic Enclosures 35 IIHL, 342HL, 3562HS, 342HS, 352S and 342S

Panel Hinge A Panel Hinge B
pn 1308 pn 1309

(2) Screw pn 6030 and

(2) Nut pn 6105 (not shown) (2) Screw

) pn 6028
0
LR
Ground stra / @ (2) Hinge Pin
hole \ pn 1307
é@ € ) € ) €
©
\ SERRPAC
\ ®
Panel ‘
pn 72020
Optional kit
| pn 7200TH
|
(2) Screw
pn 6029
Part included in Kit number 7200TH
P/N Qty. Description
72020 1 Aluminum Hinged Top Panel
6029 2 SS #10 X 3/8" Pan H/L Screw
13— 6030 2 | SS#10-32 X 3/8" PH-PN Combo Screw
6105 2 SS #10-32 Hex Nut Plain
i '%\ ('Qw 6028 2 SS #10 X 5/8"Pan H/L Screw
1307 2 Hinge Pin
* j b 1308 1 Panel Hinge A
1309 1 Panel Hinge B

5/22/2023
2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72020 Aluminum Hinged Panel
Slectronic Enclesures 3 HIIHL, S342HL, 352HS, 342HS, 352S and 342S

~ R.06
4 PLC'S
8.16 s
* —~— 1.29 - * 1.71 2 PLC'S
35 ~ ® 20THRU
- } ; 4 PLC'S
g R
[ D7
3.11
8.08
6.94
3.83
% ~ R.35
7:96 i 2 PLC'S
9.98
* I I I
13—

5/22/2023
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7200HP Plastic Hinged Top Panel Kit for
SEREIPAC 352HL, 342HL, 352HS, 342HS, 352S and 342S

Panel Hinge Left

pn 1310 Panel Hinge Right

pn 1311
(4) Screw
- pn 6028

A
AN Fﬁ
rd

é@ﬁ ) € ) €
B l B i
7.95
Customizable I 8.19
Aread
Panel [ =
" pn 62021 * neRe

o

A<—; 86 x 45°

oo SECTION | |
9.88 Customizable Area A-A OpTIOnC” kit
pon 7200HP
10.12
10—
% ) —
U Parts Included in kit number 7200HP
P/N Qty. Description
I 2 72021 1 Plastic Hinged Top Panel
1310 1 Panel Hinge Left
?.82 SECTION 1311 1 Panel Hinge Right
B B 6028 4 SS #10 X 5/8" Pan H/L Screw

4/13/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




72021 Plastic Hinged Top Panel
SEREIPAC 352HL, 342HL, 352HS, 342HS, 352S and 342S

-

F

7.95
Customizable
Ared

L.

b2l
2 PLC'S

9.82

F

"J‘ﬁr
8.19
3.82
()\ /Q}
__I 84 X 45°
4 PLC'S
9.56
9.88 Customizable Area -
10.12
N
SECTION F-F

—~{ .10
Qrn
7.89
02
RECESS
\
45
—~ 57 =
SECTION E-E

4/13/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for Enclosures for Industrial Automation category:
Click to view products by SERPAC manufacturer:

Other Similar products are found below :

116-508 190-005 2202307 2901107 2901699 2790318 2906238 5030266 2977487 2200095 115-401 795-001 733-820 721-032 1103440
1037322 1167159 1158978 1158981 1158982 1017444 100-403-91 100-405-01 101-003-91 101-004-91 101-506-01 WMO52RI,GY
WMO93RI,GY 93604-0093 0936040095 0936040103 0936040085 0936040119 1555EE2GY 1555XGY 1590ZGRP163 1590ZGRP244
159/DIN2GY 159/DIN4GY WMO52RI,BK WMO31RI,BK WMO012I,BK 200-913-91 201-506-01 2909976 2202023 PNX-91426 2200528
2200544 2200545



https://www.xonelec.com/category/enclosures/enclosures-for-industrial-automation
https://www.xonelec.com/manufacturer/serpac
https://www.xonelec.com/mpn/altech/116508
https://www.xonelec.com/mpn/altech/190005
https://www.xonelec.com/mpn/phoenixcontact/2202307
https://www.xonelec.com/mpn/phoenixcontact/2901107
https://www.xonelec.com/mpn/phoenixcontact/2901699
https://www.xonelec.com/mpn/phoenixcontact/2790318
https://www.xonelec.com/mpn/phoenixcontact/2906238
https://www.xonelec.com/mpn/phoenixcontact/5030266
https://www.xonelec.com/mpn/phoenixcontact/2977487
https://www.xonelec.com/mpn/phoenixcontact/2200095
https://www.xonelec.com/mpn/altech/115401
https://www.xonelec.com/mpn/altech/795001
https://www.xonelec.com/mpn/altech/733820
https://www.xonelec.com/mpn/altech/721032
https://www.xonelec.com/mpn/phoenixcontact/1103440
https://www.xonelec.com/mpn/phoenixcontact/1037322
https://www.xonelec.com/mpn/phoenixcontact/1167159
https://www.xonelec.com/mpn/phoenixcontact/1158978
https://www.xonelec.com/mpn/phoenixcontact/1158981
https://www.xonelec.com/mpn/phoenixcontact/1158982
https://www.xonelec.com/mpn/phoenixcontact/1017444
https://www.xonelec.com/mpn/altech/10040391
https://www.xonelec.com/mpn/altech/10040501
https://www.xonelec.com/mpn/altech/10100391
https://www.xonelec.com/mpn/altech/10100491
https://www.xonelec.com/mpn/altech/10150601
https://www.xonelec.com/mpn/serpac/wm052rigy
https://www.xonelec.com/mpn/serpac/wm093rigy
https://www.xonelec.com/mpn/molex/936040093
https://www.xonelec.com/mpn/molex/0936040095
https://www.xonelec.com/mpn/molex/0936040103
https://www.xonelec.com/mpn/molex/0936040085
https://www.xonelec.com/mpn/molex/0936040119
https://www.xonelec.com/mpn/hammond/1555ee2gy
https://www.xonelec.com/mpn/hammond/1555xgy
https://www.xonelec.com/mpn/hammond/1590zgrp163
https://www.xonelec.com/mpn/hammond/1590zgrp244
https://www.xonelec.com/mpn/hammond/1597din2gy
https://www.xonelec.com/mpn/hammond/1597din4gy
https://www.xonelec.com/mpn/serpac/wm052ribk
https://www.xonelec.com/mpn/serpac/wm031ribk
https://www.xonelec.com/mpn/serpac/wm012ibk
https://www.xonelec.com/mpn/altech/20091391
https://www.xonelec.com/mpn/altech/20150601
https://www.xonelec.com/mpn/phoenixcontact/2909976
https://www.xonelec.com/mpn/phoenixcontact/2202023
https://www.xonelec.com/mpn/budindustries/pnx91426
https://www.xonelec.com/mpn/phoenixcontact/2200528
https://www.xonelec.com/mpn/phoenixcontact/2200544
https://www.xonelec.com/mpn/phoenixcontact/2200545

